



Customer: Hays Consolidated Independent School

District

Billing Address: 21003 Interstate 35 Kyle, TX 78640 Quote Number: Q-09698

Quote Created Date: 10-Feb-2025

Order Details

Contract Start Date: 01-July-2025

Contract End Date: 30-Jun-2028

Grades Purchased for Platform:

Notes:

Date: 01-Jul-2025 - 30-Jun-2026			
Product Details	Unit Price	Quantity	Subtotal
Platform - All core features for college, career & financial aid - Student licenses - Staff licenses - Parent license - Unlimited alumni licenses - College Application Manager - Event Scheduler - Industry Partner Database Lite	\$ 3.07	14,166	\$ 43,489.62
Annual Service & Support - Year Round Live Chat - Online Course & Certification - Self-serve Help Center - Communal Training Webinar - Email Support - Phone Support	\$ 0.83	14,166	\$ 11,757.78
Graduation & Academic Success - Multi-Year Course Planner - Pathway Management - Public Course Catalog - State Individual Career and Academic Plan	\$ 1.11	13,608	\$ 15,104.88
State CCR Data Suite - Key Readiness Indicator Feature - State Individual Career and Academic Plan Feature - Annual Maintenance - Experience Hour Tracker	\$ 1.11	7,000	\$ 7,770.00
K-5 Platform - Career interest assessment - Career exploration - Teacher Lesson Plans - Sentiment check in system	\$ 1,417.50	16	\$ 22,680.00



Order Form

Onsite Training Day - Recurring Includes an onsite training day of up to 6 hours	\$ 3,500.00	2	\$ 7,000.00
Virtual Training Day - Recurring 6 virtual training sessions up to 90 minutes each	\$ 2,500.00	2	\$ 5,000.00
			Total: \$112,802.28

Date: 01-Jul-2026 - 30-Jun-2027			
Product Details	Unit Price	Quantity	Subtotal
Platform - All core features for college, career & financial aid - Student licenses - Staff licenses - Parent license - Unlimited alumni licenses - College Application Manager - Event Scheduler - Industry Partner Database Lite	\$ 3.09	14,166	\$ 43,772.94
Annual Service & Support - Year Round Live Chat - Online Course & Certification - Self-serve Help Center - Communal Training Webinar - Email Support - Phone Support	\$ 0.85	14,166	\$ 12,041.10
Graduation & Academic Success - Multi-Year Course Planner - Pathway Management - Public Course Catalog - State Individual Career and Academic Plan	\$ 1.17	13,608	\$ 15,921.36
State CCR Data Suite - Key Readiness Indicator Feature - State Individual Career and Academic Plan Feature - Annual Maintenance - Experience Hour Tracker	\$ 1.17	7,000	\$ 8,190.00
K-5 Platform - Career interest assessment - Career exploration - Teacher Lesson Plans - Sentiment check in system	\$ 1,438.77	16	\$ 23,020.32
Onsite Training Day - Recurring Includes an onsite training day of up to 6 hours	\$ 3,500.00	2	\$ 7,000.00
Virtual Training Day - Recurring 6 virtual training sessions up to 90 minutes each	\$ 2,500.00	2	\$ 5,000.00
			Total: \$114,945.7

Date: 01-Jul-2027 - 30-Jun-2028			
Product Details	Unit Price	Quantity	Subtotal

Order Form

Platform All core features for college, career & financial aid Student licenses			
Staff licenses Parent license Unlimited alumni licenses College Application Manager Event Scheduler Industry Partner Database Lite	\$ 3.11	14,166	\$ 44,056.26
Annual Service & Support Year Round Live Chat Online Course & Certification Self-serve Help Center Communal Training Webinar Email Support Phone Support	\$ 0.86	14,166	\$ 12,182.76
Graduation & Academic Success Multi-Year Course Planner Pathway Management Public Course Catalog State Individual Career and Academic Plan	\$ 1.23	13,608	\$ 16,737.84
State CCR Data Suite Key Readiness Indicator Feature State Individual Career and Academic Plan Feature Annual Maintenance Experience Hour Tracker	\$ 1.23	7,000	\$ 8,610.00
K-5 Platform Career interest assessment Career exploration Teacher Lesson Plans Sentiment check in system	\$ 1,460.10	16	\$ 23,361.60
Onsite Training Day - Recurring includes an onsite training day of up to 6 hours	\$ 3,500.00	2	\$ 7,000.00
Virtual Training Day - Recurring 6 virtual training sessions up to 90 minutes each	\$ 2,500.00	2	\$ 5,000.00

Notes about applicable taxes:

Prices shown above do not include any state and local taxes that may apply. Any such taxes are the responsibility of the Customer and will appear on the final Invoice. If the Customer is exempt from sales tax, please send the applicable tax exemption certificate to billing@schoolinks.com

Terms & Conditions:

This Order Form is governed exclusively by the terms and conditions available at: https://www.schoolinks.com/terms-and-conditions

Signature

By signing below, I certify that I am authorized to sign on behalf of the Customer and I agree to be bound by the terms and conditions of this contract.

SchooLinks

Customer

SchooLinks

Signature: M dea

Full Name: MARIVEL SEDILLO

Title: CHIEF ACADEMIC OFFICER

Date Signed: 06.19.25

Order Form

Signature: Ellis Harr

Full Name: Ellis Harr

Title: CFO

Date Signed: 08/20/2025